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You have been called for the written test based on the online data furnished by you in the web application. If you have
wrongly entered in the web or you do not possess the required qualification as per our advertisement, your candidature
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You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.
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The Question paper is in the form of Question Booklet with 60 questions.
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A separate OMR answer sheet will be provided for answering the Questions.
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Question booklet series code (AIBICIDIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.
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6. WeA-GREAHT H TR FAH TAUT IefshaAieh Sk e & ford|
Enter your Name and Roll Number correctly in the question booklet.
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By
All entries in the OMR answer sheet should be with blue/black ball point pen only.
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The written test will be of objective type based on the qualification prescribed for the post with four answers indicated, of
which only one will be unambiguously correct.
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You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen as per the instructions given in the answer sheet.
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SICT 30 Aal AT S|
Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong answers.
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Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc.. will not be allowed inside
the written test hall.
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On completion of the test, tear the OMR answer sheet at the perforation mark at the top and hand over the original OMR
answer sheet to the invigilator and retain the duplicate copy with you.
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The question booklet can be retained by the candidate.
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Candidates are not permitted to leave the examination hall during the first hour of the examination.
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T &

The written test is conducted only to shortlist/screen-in the candidates for interview.
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THAIEl HEES(T35)/ TECHNICAL ASSISTANT(MECHANICAL)

g TdEs & A gerar & e/ For maximum efficiency in multi-stage compressor
(a) =ROl & &I Y A ARIHS AHHAA a6 sfrafera fRaT SIT=IT I1f@T / Air should be cooled to initial

temperature between the stages
(b) WA TICT 1 &F HeIard AT g7 TTET / Pressure ratio for each stage should be same

(c) & o & faw fmar amr FTF AT g7 8T/ Work done for each stage should be same
(d) 3‘@:1% /Al of the above

waﬁwmﬁraﬂglﬁr@?aﬁmm@aﬂmﬁﬁvmmm ...................
CEIRY frgr STaT €1/ For a two stage reciprocating air compressor, for minimum work required the

intercooler pressure is given by

(@) Py=sart(pixps)  (b) P2=pixps (c)  Px=1/sart{pps) (d)  P2=1/(p1xpa)

TF Had UH N WaABA F G A FAF GEAT oo ¥ f¥R 21/ Ideal air
standard efficiency of a closed cycle gas turbine depends on

(a) Fae = & G HeTdd/pressure ratio of the cycle only

(b) @hdad T & ATIHA HeIdTd / temperature ratio of the cycle only

(c) CTIHATT FeIqTd AT aTs HeJdrd Zle1/both the temperature ratio and pressure ratio

(d) F9Fd H T W sTEi/none of the above

FAE 9T F AT WHR F B aW AR H FH AT s { / The plant which is

smaller in size and lower in weight for the same power, is

(a) &9 TAF/Steam plant (b) ¥ ReTEA TIF/Gas turbine plant
(c) 3me.dr. &t HIF/.Cengine plant (d) T TIF/Diesel plant
u HEE Alser ¥ T Ffaw g9 I RAAHEFR T AT 8| / At the

critical pressure ratio for a convergent nozzle, the \}elocity at outlet will be
(a) tafa® J91 & 3ifH/More than sonic velocity

(b) eafds I & FHA/Less than sonic velocity

(c) eafd® J7 & sEV/Equal to sonic velocity

(d) FHRFT & T W sTEl/None of the above
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10.

11.

Rl e Y TEIAT I F w7 &§ gienfa far ST wear g1/ Ductility of a

material can be defined as

(a) ddeaT # §3 Tl R{wgor & 3tha g @ &TAdVAbility to undergo large permanent
deformation in compression

(b) 39T HeT T G-I el I &THAT/Ability to recover its original form

(c) aerd & o3 TR fawgur & 3refid g dr &TAdT/Ability to undergo large permanent
deformations in tension

(d) 39 |eM/All of the above

Toral olig & FIeeT T FIAATAT e &1 /% of carbon in Cast iron is
(a) <0.8% (b) <1.3% (c) >2% (d) >6.3%
AGHOT & TR H FhA-AT FUF TS B2 HGITIT oo & fore far sar 1/ Which

is false statement about tempering? Tempering is done to

(a) HAMAA-HRAT H FUN A=A/Improve machinability

(b) @eFar # GUR Ae/Improve ductility

(c) 3afie gfaeal 1 Aare=/Release internal stresses

(d) FORAT TYUT HIRAT H FHHF F=1/Reduce hardness and brittleness

AT A o &I §1/Brass contains

(a) 70% areT AR 30% 51 / 70% copper and 30% zinc
(b) 70% arer 3R 30% f&eT / 70% copper and 30% tin
(c) 30% arar 31X 70% fes1/ 30% copper and 70% tin
(d) 60% dreT 3T 40% &7 / 60% copper and 40% tin

GIC IR T =1 s B (L s e 1) gofy &1 gar &1 / High Speed Steel (H.S.S)
belongs to the category of

(a) HEAH FEa sEII/medium-carbon steel

(b) 3I=a FET sFUA/high-carbon steel

(c) fAstng sEard/alloy steel

(d) SR sEard/stainless steel

AR-FIAT HATTHA H FORAT TEAT 1 o @ & ST &1/ The hardness number
1 of Moh's scale is assigned to
(a) Farésr/Quartz (b) eEre=h/Talc
(c) 9YERTSI/Topaz (d)  gRr/Diamond
4 ME42/15



12.

13.

14,

15.

16.

17.

18.

Fderor Ot H AR F e qone g w=ivd el @ gEd 9erd @ Sear S gl
2 R ) (R 21/ Surveying tapes are made of material having low coefficient of
expansion & enough strength. The alloy used is

(a) Feax w&ra/Silver steel (b)  gEEATT/Hastelloy
(c) & T1g/Monel metal (d)  3=Tal/Invar

TR IE s g ar 3 e’ AT ST R1/A fluid is said to be ideal, if it is

(a) 3FEIEA™I/Incompressible
(b) YT WTeIdT/Zero viscosity
(c) 2T aur 3rENEa/Viscous and incompressible
(d) &= Fa=Ia1/Low density

10 6. am. geaae &7 F15 avg frdt 78 # 5 fham. o) & g o 81 39 7 & g Hed
g1/ An object having 10 kg mass weighs 5 kg on a planet. The value of ‘g" at

this planet is
(a) 5.0 m/sec? (b) 4.9 m/sec’ (c) 10.2m/sec (d) 9.7 m/sec’
Fa # R ot Rz & T I @R 90 Sretarel IROMAT &4 e W HEF B

&1/ For a body floating in water, resultant pressure exerted by water acts at

(a) T5 &r et gag/Bottom surface of body.

(b) & F A F [z & g HN/Centroid of portion of body under water.
(c) Tz & wag & welr fAgAM/AIl points on the surface of body

(d) T8 & FHgep/Centroid of body

Iy Bt NAer & ¥ & o gfarwfa Ry Srar §  F 9N Fr 2 4 SO a9 &
.............................. . & F=$ g Suelt| / If mercury in a barometer is replaced by water,

the height of 2 cm of mercury will be following ................. cm of water

(a) 27.2cm (b) 50cm {c) 52cm (d) 13cm

25 m JEIH AT BT G covveeriereecerenrnnes & ST &1/ A pressure of 25 m of head of water is
equal to

(a) 25kN/m? (b) 245 kN/m’ (c) 2500 kN/m? (d) 2.5kN/m?

7.5 fram. &R dur 0.01 m® 3T & U AuAR & AT e fafarse gt &

fadl aXer @ g9 S| / An odd shaped body weighing 7.5 kg and occupying 0.01 m® volume will
be completely submerged in a fluid having specific gravity of

(a) 1 (b) 1.2 (c) 1.7 (d) 0.75
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19.

20.

21.

22.

23,

24.

vs fis & g fg & 919 a9 &g Sar § 579/ Heat flows from one body to other body when
they have '

(a) 3T AR FvATT fBe=/ff==1 gi-Different heat contents

(b) 3 faRse FsATT A==/ gi-Different specific heats

(c) 3efehl GRAT] T e g/Different atomic structure

(d) 3% agEa e gl/Different temperatures

fAfaf@a & fradr FoAT Trewdr Hod Fed 3T &7 / Which of the following has maximum

value of thermal conductivity?

(a) UIATH / Aluminium (b)  gTaTA/Steel
(c) didcl/Brass (d)  dET/Copper
AT TEHEIOT Q = KA(tt)/X F AEE K/ (KA oo & FT H ST ATGT &1/ In the heat

flow equation Q = kA(t;-t5)/x, the term “x/(kA)” is known as

(a) FedA™ gfae/Thermal resistance

(b) FeAT W/Thermalcoefﬁcient

(c) Fwera =@TerRdl/Thermal conductivity

(d) FSAT 3EROT JUTH/Heat transfer coefficient

TF AT 9T F & VuF g UH & FR UF o AT HAT ST § 3cdH aRomA §q/

A steam pipe is to be insulated by two insulating materials put over each other. For best results

(a) ST & FH dgca] Ve STk AT X afear AT 3@k FI/ Better insulation should
be put over pipe and inferior one over it.

(b) 9ET F FT Ofear quel sreem WRT HR dgeaw WU 3WEH FI / Inferior insulation
should be put over pipe and better one over it.

(c) 2T #r et off e F 3o SU/Both may be put in any order.

(d) 2T ¥ F9R g T STAAT TET AT Sgca] Ve, Tg AT d9A T T @Il /
Whether to put inferior one over pipe or the better one would depend on steam
temperature.

qﬂ'ﬁ%ﬁwﬁﬁw,mﬁﬁaﬁﬁﬁaﬁaa@ﬁ ........................... & 3urias g1/

According to Planck’s law, the wavelength corresponding to the maximum energy is proportional
to

(@ T (b) T €0 T (d 7
WWﬁﬁmWﬁw%mm%ﬁ%ﬁa%@ .............................. ar
SET £1/ In a centrifugal pump, when the impeller speed is doubled, head developed becomes
(a) 2times {(b) 1.414 times (c) 4 times (d)  1.5times
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25.

26.

27:

28.

29.

30.

A AT & 997 T FFHEST e % 3MeIATIc BT/ For pumps of same speed,

discharge is proportional to

(a) 3deTes =ar@/impeller diameter (D) (b) D?
(cg D? (d 1/0°
: e o £ s (R ¥ v 3caf®e 3faa &1/ Francis turbine is best suited for

(a) 180 ¥ 24m % % ALIH MY 3TFRAF/medium head application from 24 to 180 m
(b)  30m Tl T FA Y FEAGA/ low head installation upto 30 m

(c) 180m & U &1 3Td MY HEUMI=T/high head installation above 180 m

(d) @ gFR F f¥/all types of heads

I fagseT g 3=u At & v FF-® 99 & g¥@g fHar Sar &2 / For small discharge and
high heads which pump is preferred

(a) TFHEr gR/centrifugal type

(b) weAEMHT YeR/reciprocating type
(c) 37&fT garg wsh/axial flow type

(d) 2T gag gsR/radial flow type

WWB@WW@WWF%WWW%HTWW/FOM
circular cross-section beam subjected to a shearing force F, the maximum shear

F 4F 2F F
(@ 7z (b Tz © & @ o
%ﬁmﬁmwwam%mw .................... F el Rear amar &1/
Resilience of a material is important, when it is subjected to
(a) FsH™T gfdedi/thermal stresses (b)  wETA HRUI/shock loading
(c) =fd/fatigue (d)  TE&-®e/wear and tear

i ¥ e e SO ¥ O e o R S §1 3/ Three different weights fall from a
certain height under vacuum. They will take

(a) g aF qgﬂ?‘f ¥ T Ts & THI oidl/same time to reach earth

(b) 2T Tk Clg‘ﬂﬁ' ¥ T %X & 3neIaIfaF AT Stimes proportional to weight to reach

earth
(c) gz dF trg—d?‘r ¥ RT 89X & oA IS HAT AN/times inversely proportional to
weight to reach earth

(d) awFe e fRaT ST FhdT/unpredictable
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31.

32.

33.

34.

35,

36.

37.

UF FUSA AR F H HANA HAGI d SAEAUT D HEY AW ¥ gad UF Hider fder A

3HUEIT Yideel fAFATER fa@ram SATar 8 /The shearing stress in a helical spring of wire diameter
d and having mean diameter D, supporting a compressive load F is given by

2FD 4FD

(a) ;&—;XK (b) %XK
(c) %g%xK (d) fjka

AN I d Gl T de MR HIT W HARS aF p 3ar g1 afE drer @l &

ded wfdeel o § ar P H qear (t) - F FAE /A thin spherical shell of internal diameter d
is subjected to an internal pressure p. If o is the tensile stress for the shell material, then thickness
of the shell {t} is equal to

(a) pd/2c (b) pd/4c (c) pd/o (d) 4pd/oc

T Tqdue g8l 7 aFg B FE wUE & W@ S B Fegar & S g1/in the third angle

projection, the object is imagined to be placed

- (a) H.P.% AT FUT V.P.&F 91/ Below H.P and behind V.P.

(b) H.P.& 3T TUT V.P. % THA/ Above H.P and infront of V.P.
(c) H.P.& FIX TUT V.P. & drd/Above H.P and behind V.P.
(d) H.P.& = g2m v.r. & TTHA/Below H.P and infront of V.P.

TH FleeH YIHA - EﬁT-T god cf dwel & SEdar g/An Oldham coupling connects two shafts,
when they are

(a) wfa=sfealintersecting (b)  wifeds/Parallel

(c) FHTE™I/Coaxial (d)  @&/Perpendicular

]©) = & vt v # g sar & ](0) symbol in a drawing represents

(a) TEel weld/Perspective projection (b)  gelra wrqduTe Fe/ third angle projection
(c) WUH 9T WAT /first angle projection  (d) A% w&id/oblique projection

H7g6 TH - 8/ H7g6 s a
(a) =geT 3T FFArTS/Close running fit (b)) &I 3f=aTAI=t=i/Push fit
(c) @ede 3=araiste/Shrink fit (d) EdEa 3=arAsTsT/Press fit

S goclid HIUT I KT & T A AT He FATA F Fead W YTd HolT HET 6T g6
gI9IT?/Conic section obtained by cutting a right circular cone by a section plane inclined to the axis
of the cone and cutting all the generators

(a) gedlCircle (b) & gedkliipse
(c) uTaera/Parabola C(d)  HfAuREerdF/Hyperbola
8 ME42/15



38.

39.

40.

41.

42,

43.

U T @Y 3@ @ g 9UERTT F 9T dicaard U god & R w1 auiia fig @
geh/ Curve generated by a fixed point on the circumference of a circle which rolls without slipping

along a fixed straight iine.

(a) wfdhgat/Iinvolute (b)  =ehaA/Cycloid
(c) afga/Spiral (d) 3T Helix

P= Rl T d- g— & T &feer welgs AT SAT §/Cutting fluid is employed in machining for

(a) JISIOT AT F FT 38T Fa1 /cooling the tool and the job
(b) s wdw H TgeT /lubricate at the rubbing surfaces

(c) ffAeT Se & |T% FHTA/cleaning the machining zone

(d) 3RrFa Fefi/all of the above

wgdg e ANPET F o ¥ HROT GHEIAT JIAIT BT §/Material removal takes place in
Abrasive Jet Machining due to

(a) faega wamrafa® fAT/electrochemical action
(b) I FEE/mechanical impact

(c) @Y &1 AT HeT/fatigue failure of the material
(d) ®ug W THieier/sparking on impact

A §H o F AT F AN ST A HIR g HOHTA WA FH FA gEM/Tool life in

turning will decrease by maximum extent if we double the

(a) deT TES/ depth of cut (b)  weUT/feed
(c) dae daT/cutting velocity (d) 3R AT FI97 tool rake angle

37ged ®quT 9fhar & --—-- gaar &/ Cold working process increase

(a) ¥we afFalimpact strength

(b) d=adl/ductility

(c) Srdfeor i ufderaan/percentage of elongation
(d) &7fa |/ fatigue strength

K iriry g (m BaTer & gur dT Tl (V)m/min F 8/ The relationship between tool life (T) in
minutes and cutting speed (V) in m/min is

(a) Vv"T=C {(b) VvT"=C ) (c) v/1"=C (d) VvYT=C
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44,

45.

46.

47.

48.

49.

50.

ef@a § ¥ - deaa ulear # 3T Soigcisl & 9T fhar Srar g/Consumable

electrodes are used in which of these welding process?

(a) EMEITIG (b) THANESAUMIG (c) UfF/Thermit  (d) @I/ Laser

TEY 30 degaTg T ¥ --—-t/Material best weldable with itself is

(a) SR 3TUTA/Stainless steel (b)  di/copper
(c) UegHIIHA/aluminium (d) 7 FEIA/mild steel

fArafo@a & & gfer AmEr Sia-dr 8/ Which of the following is a vector quantity?

(a) gcTHI/mass (b)  FaIM/momentum
(c) @IvT/angle (d) ard/speed

Af T GEET & @ we, G p & T TR #, N § A 3 e, fda e ¥
3a%  gfauetsd F--—— aior A e & T 9Y fasusnda g @eher/If two forces each

equal to P in magnitude act at right angles, their effect may be neutralized by a third force acting
along their bisector in opposite direction whose magnitude is equal to

(a) 2P (b) P/2 (c) 2P (d) p/v2

FeaTaT & & 0 HoT F TF YA & Sadd AT ST gl 0 -— gl W s afas 3
A gleml/ A projectile is fired at an angle 6 to the vertical. Its horizontal range will be

maximum when 0 is
(a) 30° (b) 45° (c) 60° (d) 90°

U G O FaTe FRufd § smopersec & IR 0T § TEAT ¥ Ssec H TN - g
t@‘ FI ST 1/ A body moves, from rest with a constant acceleration of 5 m per sec. The
distance covered in 5 sec is most nearly

{a) 38m (b) 62.5m (c) 96 m (d) 124m

fFEl O F UF TEAT ¥ 0y U S99 i 9y & Sraewr arow fRoam B 38 W A @ 3
wmﬂﬁrsﬁwﬁﬁﬂﬁﬁlqﬁrmq@aﬁﬁmﬁﬁﬁ ........................ AR FT HAHT

2

fRam| / A thief stole a box full of jewelry of W kg and while carrying it on his head jumped down
from third storey of the building. Before he reached the ground, he experienced a load of

(a) <FAlzero (b)  3=d/infinite
(c) W & FHHA/less thanw (d) w & fF/greater thanw
10 MIE42/15



5.

52.

53;

54,

55.

56.

Ha-y FgA & 3ER, 9 a9 R war § a9 wf Je A9 TIAT J gerare & o10°c
aftadsr & AT 0°c W 39 {F 3T # 1/2739F 1 IRade HT §? / According to which

law, all perfect gases change in volume by 1/273th of their original volume at 0°C for every 10° C
change in temperature when pressure remains constant

(a) ST fer@@A/oule’s law (b) Sz ATA/Boyles’s law
(c) -erEars FTA/Gay-Lussac law (d) =T ATA/Charle’s law

feAfaf@d & @l-ar T Jomelr FT AU §? / Which of the following is the property of a
system?

(a) Er& JUT argAEA/Pressure and temperature

(b) 3idR& Feil/internal energy

(c) 3TaaT U dg«di/Volume and density

(d) 39d=a @/All of the above

270°C & T Y I F IWH WA AT g dh W g9 &F aifaa fvar sirar g1 sfaw

CATHHIET = sovrinmsmikivavaassvarisnys &1 / A perfect gas at 270°C is heated at constant pressure till its
volume is double. The final temperature is
(a) 54°C Thy 327°¢ () 108°C (d) 600°C

U FHA SfRar # A F v v snaRe F4T / In an isothermal process, the internal
energy of gas molecules

(a) «edr g/increase

(b) =edY §/Decrease

() TEUT T@AT &/Remains constant

(d) g & TomEt W AR gl SEI/EIT / May increase/decrease depending on the

properties of gas

2 T3, geret 500 k) e AT & 3 1000C ¥ 2000C dF F A9H al@de & 3T gar
¥ zu ufrar & e gers & itaa faRsT 3maer M/ 2kg of substance

receives 500 kJ and undergoes a temperature change from 1000 C to 2000 C. The average specific
heat of substance during the process will be

(a) 5 kl/(ke’K) (b) 2.5 kJ/(kg’K) (c)  10ki/(kg°K) (d) 25 kJ/(kg"K)

7O feeri o RAgda gfkar gedy & ar fRdr dga gomer & 3aRsE e
# arer aRader 3iaRd AT F sXeX @1 / Change in internal energy in a closed system is

equal to heat transferred if the reversible process takes place at constant

(a) <crE/Pressure (b)  a™AA/Temperature
() 3madaa/Volume (d)  31dR Fsil/internal energy
11 ME42/15



57.

58.

59.

60.

afg e a9 S 100 gfaed ardid G&TdT Wod FAT § A6 T oo, &
3ooigel AT g1/ If a heat engine attains 100% thermal efficiency, it violates

(a) AT Fifder & A fF@A/Zeroth law of thermodynamics
(b) FwaAT aifddhr & wuad [ATA/First law of thermodynamics

(c) FwaAT aIfad & gfada fAFA/Second law of thermodynamics
(d) S Tl FREVAI of the above laws

el FAY & W U Aol WhoReX T GaRT GAToIsT T| HAEATHET # HIA-A7 FU Ter
€ ? / The door of a running refrigerator inside a room was left open. Which of the following
statements is correct?

(a) FAT MR &F HT & AIHAT F el MATeld & ST / The room will be cooled to

the temperature inside the refrigerator
(b) AW Sgd Fa MAferT & ST The room will be cooled very slightly

(c) A -/ IHF & AT/ The room will be gradually warmed up

(d) AT & 3T & aF HI AYA IJWHTEA 90| /The temperature of the air in room will
remain unaffected

gfe IRA gE R FIT uEr H AT FEr §oar 3" UOMl T Ueerdl e, /

If hot water and cold water are mixed, then the entropy of the system will

(a) ¢ STCA/Increase

(b) = STUI/Decrease

(c) 3mRafda W®IM/remains same

(d) WA 9T Jur 337 g & UR@EF duEeE W @RI @9 SImET / May

increase/decrease depending on initial temperature of hot water and cold water

HIT dF W TH GOTell & SR 3@H SIS a0 AT & FfAe M &1 AT TR 3RS Fofl 96
ST Bl e, F FNUT I AT gl / During a process on the closed s-'ystem, its
internal energy increases by twice the units than heat added to it. It is possible due to

(a) 3maurE & 3T ara/Radiation of heat from the surroundings

(b) d9AE A gig/increasing of temperature

(c) 3§ womell & A%e F7 F AsurgaA/Performing of shaft work on the system

(d) woTTelr gaRT e H 1 fASATEA/Performing of shaft work by the system.
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